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7. Critical Reasoning – Evaluation

Which of the following most effectively undermines the notion that the disaster 

was entirely precipitated by excessive rainfall?

A. Uttarkashi had not experienced comparable precipitation levels in recent years.

B. The absence of high-altitude weather radars limits accurate rainfall 

measurement.

C. Analogous disasters have unfolded in regions devoid of infrastructural 

development.

D. The compounded impact of accumulated debris and haphazard urbanisation 

escalated the damage.

E. Alerts regarding potential downpours were issued prior to the incident.
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8. True/False Evaluation

Which of the following assertions are supported by the passage?

I. The India Meteorological Department officially categorised the event as a 

cloudburst.II. State authorities often deploy the term 8cloudburst9 to eschew responsibility.
III. Infrastructure development and sediment buildup pose latent hazards in the 

Himalayas.

A. Only II

B. I and II

C. II and III

D. Only I

E. I, II, and III
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9. Tone Analysis

How can the author9s tone in the concluding section of the passage be best 

characterised?

A. Idealistic and hopeful

B. Dispassionate and neutral

C. Disapproving and cautionary

D. Sarcastic and indifferent

E. Humble and grateful
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10. Cause-Effect Based

Based on the passage, which among the following was least likely a direct 

consequence of the intense monsoon rainfall?

A. Topographical destabilisation resulting in soil dislodgement

B. Catastrophic flooding in populated hillside settlements

C. Viral dissemination of condolence messages by public officialsD. Accumulation of large silt deposits along the river9s course
E. Mobilisation of emergency relief forces in affected zones
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